Binomial Coefficients
(R How many woy.s ove +theye Ho chpose  a
Seq/weucg D'LC k d/;g‘/')hc?" VluwéeV_S ‘1[1/0141 [‘”JP
EXﬂ\M(o/C I n=Y% and #:Z/
2 20 3/ 4]

/ /
3 23 32 %2 ({2
)T g% 3¢ %3

&emerml n and k-
n choces x (n-]) choicec * ... X (n—k+() choices

f<m mm\()eu/ de N ombey " k“”u hambev
Answev: nn-1)-.. - (n-k+1) = T J = !
Recall #hat nl= 7‘74‘ . JEIRE h~kD/
) 3 \/'.:/ J = h'(“"‘/)'...'/ ! ~ h'(h~f)°...-(wl<‘*/)'{(;;;%)zlr
B k)
RGN

S/Ofcld} a7 BY TZ)CVQ aAre h_’ oneVz'an' ot LnwT

L2232 212 312 2¢ ava'e.w"yS
/ ot 41
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